Nootmmearasiz OMT-101

Bachelor Preparatory Programme (BPP)
Term End Examination, June, 2020 -
' PREPARATORY COURSE IN GENERAL MATHEMATICS

t

Time:2 Hours | . _ " Maximum Marks : 50

GENERAL INSTRUCTIONS
1. All questions are compulsory. Each question carries 1 mark.

2. No cell phones, calculators, books, slide-fules, notebooks or Written notes, etc. will
be allowed inside the examination hall.

- 3. You should follow the instructions given by the Centre Superintendent and by the
Invigilator at the examination venue. If you violate the instructions, you will be
disqualified.

4, Ah'y candidate found copying or receiving or givihg assistance in the examination
will be disqualified.

5. The Question Paper and the OMR Response Sheet (Answer Sheet) would be
. supplied to you by the Invigilators. After the examination is over, you should hand
over the OMR Response Sheet to the Invigilator before leaving the examination
hall. Any candidate who does not return the OMR Response Sheet will be
disqualified and the University may take further action against him/her.

6.  All rough work is to be done on the question paper itself and not on any other
paper. Scrap paper is not permitted. For arriving at answers you may work in the
margins, make some markings or underline in the test booklet itself.

7. The University reserves the right to cancel the result of any candidate who
impersonates or uses/adopts other malpractices or uses any unfair means. The
University may also follow a procedure to verify the validity of scores of all
examinees uniformly. If there is substantial indication that your performance is not
genuine, the University may cancel your result.
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How to fill up the information en the OMR Response Sheet |
(Examination Answer Sheet) B

Write your complete Enrolment No. in 9 digits. This should correspond to the
enrolment number indicated by you on the OMR Response Sheet. Also write. your
correct name, address with pin code in the space provided. Put your signatures on
the OMR Response Sheet ‘with date. Ensure that the I’nvigilator in your
examination hall also puts his signatures with date on the OMR Response Sheet at
the space provided.

On the OMR Response Sheet student’s partlculars are to be ﬁlled in by blue/black

‘ball pen also. Use blue/black ball pen for writing the Enrolment No. and
Examination Centre Code as well as for blackening the circle bearing the correct
answer number against the serial number of the question.

Do not make any stray remarks on this sheet.

Wnte correct 1nformat1on in numerical digits in Enrolment No. and Examination
Centre Code Columns. The corresponding circle should be dark enough and should
be filled in completely.

Each question is followed by four probable answers which are numbered (1), (2), (3)

and (4). You should sélect and'show only one arniswer to each question considered by -
you as the most appropr1ate or -the correct answer. Select the most approprlate

answer. Then by using blue/black ball pen, blacken the circle beanng the correct

answer number against the sefial number of the question. If you find that-answer

to any question is none of the four alternatlves glven under the quest1on you

should darken the circle with ‘0’.

No cred1t will be given if more than one answer is given for one question:. Therefore,
you should select the most appropriate answer. : ne

You should not spend too much time on one question. If you find any particular
question difficult, leave it and go to the next. If you have time left after answering
all the questions, you may go back to the unanswered question.

There is no negative marking for wrong answers.
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1. Which one of the following is not an ambiguous statement ?

(1)} Delhi is the most polluted city of India. .

(2) The number of ways to draw a card from a deck of 52 playmg cards is infinite.
(8) Are all crows black ?

(4) Dogs are faithful animals.

2. When a number is added to its cube the result is five tlmes the number. Which one
' of the following is not a possible value of the number ?

M 2 @ 1
® o | @ -2

3. In the binary number 10111, the place value of the third digit from the right is :

1 4 : ' @2 2
@ 1 ' 4 0

4.. Which one of the following is the prime factorization of 924 ?

(D 2x8x7x1lx1l (2) 2x2x3x7x11
3) 2x6x7x1l (4) 2x3xTxT7x11

5. (10+2—8)x(2x4_+12+4)=
W 4 @ 10

@) 22 . , 4) -80
24
6. E‘j =
2 2
o § o 2
4 2
(3) s 4) 27
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7. The largest of the fractions %,—1% ,% and % is
» 3 @ =
@ 2 @ 3
8. A rectangular piece of cloth whose edges have leng;hs, 2%m | and 5%111

requires a strip of cloth stitched along its edges. The length (in metres) of the strip

is:

L 74 (2) 15—

(%]
[VER N o)

(3) 103 4) 10—

ot
oo

9. How many one-thirds are there in 4% ?

1 4 @ b5
13

4y =
3 13 5

10. 1.005+1.59+0.3 =

(1) 2.895 (2) 1.157

(3) 2.67 4) 3.39
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11. If 10 people can finish a job in 12 days, then the number of days required by
6 people to finish the job is :
5 | @ 20

3 60 @ T2

12. 6 students of a clé.ss of 56 students were absent on a day. The percentage of

students present in the class is :

(1 8929 @ 50

(3) 10.71 . (4) 112

13. A statement which is found to be true in many cases, but has not been proved, is

called :
(1) a counter-example , (2) an axiom
(3) atheorem 4) ﬁ conjecture

14. Which of the following expressions is a polynomiél ?

(D x2+x“2fl @ 3 +aBix+1
@ = +i +1 | @) 2x10 41
. .

2x2 — Ty + 2

15. The value of the expression atx=1,y=2, z=3is :

(x - )% + 2
@ -1 @1 ‘_
3 5
‘(3) ~3 | 4 ~2
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16; Which of the following is a solution of the equation -3-2C- + % =

' 3 : 1 1)~
3) (O’Z] 4) (5’5)

17. The sum of the terms in the sequence 3, 3 x 7, 3 X T, 8x 70 is :

3(710 - 1) 3.70 _1
1) — | - (2) e
3(71! -1) 3(711 -1)
3) — 4) —

18. The sum of the series (—8) + (—6) + (—4) + ...... +10is

(1 10 (2) 8

(8 2 4 1

19. If a and b are non-zero constants, then which of the following is a geometric

progression ?

(1) a,a+b,a+b%a+bd,... (2 a,a+b,a+2b,a+3b,.... ;
(8) ab?,ab?,ab?,ab?,..... (4) ab, 2ab, 3ab, .......
20. nl+(n-D=...... ,where ne N :
1D @+D!(r-1) Q2 m+DDR-D!
3 (+1D)! | 4 @n-1)!
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21. The number of ways to arrange 10 chairs in a row with 12 positions is : |

(1)} 12! S (2) 10!

@) 120 o (4)»%!

22. Mani forgot the password of his e-mail account. He only remembers that it was
made of 6 English alphabets, of which the first and the last characters were the

same. What are the maximum number of possibilities for the password ? |
@ 26° (2) 26 x 25 x 24 x 23 x 22 x 26
3) 26 4) 26x6
23. 1+C(10,1).2 + C(10,2).22 +.... + C(10,10) 210 =
(1) 210 | i (2) -310
3 21-1 | @ 1-g1
24.  Which of the following is a simplified form of (3v5 + 1) (7 — 2V5) ?
1 19V5 -23 @ -48J5

@) 195 -72 ' 4) 20J5

25. Which of the following is a factor of 2x3 +8x2 - 2a2x — 3a2 ?
(1) x2+q2 @) 2¢+3

@) x?-d? _ 4) 3x+2‘v
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26.

21.

28.

29.

30.

Let A, B and C be three points in a plane. Let P be a point lying between A and B,

and Q be a point lying between B and C. Then which of the following need not be

true ?
(1) AP+PB=AB (2) PB+BQ=PQA

3) BQ+QC=BC (4) ZAPB = «£BQC ,;

Which of the following has only one line of reflection symmetry ?

(1) Kkite o (2) rhombus

(3) rectangle ' (4) parallelogram

Ifa, b, ¢ and p, g, r are the sides of two triangles, such thatg = 2 = E, then which
_ - p q r.

" of the following must be true ?

(1)' The triangles are right-angled triangles.
(2) The triangles have equal perimeters.
(3) The triangles are congruent.

(4) The triangles are simﬂ_ar‘.

The section of a cone by a plane parallel to the axis of the cone is :
(1) acircle | (2) ahyperbola

(3) anellipse (4) a parabola

Which of the following polygons does not create a regular tiling pattern ?

(1) equilateral triangle (2) square L

(3) regular pentagon (4) regular hexagon
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31.

32.

33.

34.

35.

Which of the following statements is true ? -

(1) The area of a flat shape is lb square units, where [ and b denote length and
breadth, respectively.
(2) The circles with the same centre are congruent.

(3) The letter N has a rotational symmetry.

(4) A hyberboloid is a made of two paraboloids.

Rita makes an open cylindrical container of radius r units and length [ units. She

wishes to paint the surface of the container. The area to be painted will be ............

‘squafé units.
(1) 2nrl+ nr? (). 2rrl +2nr?

3) 2nr? 4) =nr2l

The ratio of the radii of two spheres is 1 : 4. Therefore, the ratio of their volumes
will be :

1) 16:1 2) 1:5

3 1:16 4) 1:64

The line passing through the origin and (2, 3) has the slope :

2 .3

(1) 3 @) 3

3 2 4 3
The degree of (x2 + 1)(x 1) is:

® o0 @ 2

3 3 4 4
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36. The number of rational numbers between % and % is :

1 0 ' 2 1

@ 2 4) Infinite
37. K P(A) = % P@B) = % then which of the following is true ?

a) P(AuB)<§ @ PAnB)=1
@ PAUB)+P(AnB)=1 4 P@AUB)=P@ANB)

38. The distance between the points (1, -1) and (3, -2) is :

a1 b @ 6

3 3 | @ 1

39. The angle between the hands of a clock showing 4 p.m. is :
Q) 50° - 2) 60°
(8) 100° 4) 120°
40. Among 1.096, 1.69, 1.609 and 1.96, the largest number is :
(1) 1.096 2) 169
(3) 1.609 4) 1.96
41. The median of the data 10, 12,5,9,2,6,3,1,61is:
1 9 @ 6
3 2 4) 6.5
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42. Themode of thedata 1,2, 2, 8,2, 3,4, 2,6, 31is :
m 2 » @ 3
@) 4 @ 6

43. T A is invested at r% compound interest, compounded annually, for n years. The

amount (in %) at the end of n years.is :
r Y | r Y

) A+|(1+— . ‘ 2) A|ll+—

(1 +( +100] R _(.)‘_ ( + J

‘nr

3 A(1+*){ g A

100 100 -

44. If a die is thrown thrice, then the number of elements in the sample space
is:

1) 38 | @ 6x3

Cih e} R SR

(3) 6 . 3 e JERGA T R (4)'1,6:3'1 EOP WA L R
45. The mean duration of the data 6, 5,5, -1, 6, 3,4, 9, 8 is :
(1) 2) 3

- T Yt T wmapere LRyt T e
Ty RSN RO Dy A g DR WO LT
o
r .

(3)

N
cola
@

46. If the probabilities of t_wb 1ndependent events A and B are p al‘i.(‘i‘?':é],: respectively,
then P(ACUBC) = .. . g -
(D pq @ pg-1
3 1-pg P 4 @@ -p)(1-gq) ,
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47. The mean of the following data is :

Data Frequency
10—20 2
20—30 6
30—40 : 8
40—50 : . 10

(1 30 ‘ (2) 35

(3) 40 (4) 45

- 48. The figure below gives the blood types of 10000 people :

The number of those people with blood group O* is :
(1) 37 ' (2) 3700
(3) 037 ‘ (4) 37000

'49. A shopkeeper offers 8% discount on the sale of an item. If the marked price of the
item is T 450/-, then its selling price, in rupees, is :
(L 450 - 2) 436
(3) 414 @) 36

50. In a class of 100 students, 30 passed in History, 60 passed in English and 38 passed
in both the subjects. How many students failed in both the subjects ?

1 2 (2) 10
(3) 48 (4) 62
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